[ Efficien

cy vs vertpos |

~ 0.5

20.45
4
2 04
(8]
$0.35

0.3F

ettic

0.25
0.2
0.15
0.1

Ratio

0.8H

;2
0.9F----

-------------------------------------------------
-------------------------------------------------
-------------------------------------------------
-------------------------------------------------
.......... L
R Freeeeeeeeeas [EEEEEET T
b “* 4 asqate’
b d il i MW
10f : :
HE B Y N O R
i +Ft-7
-+ = *------
|4
LA AR -
ARRESS e + 14
& |4

1072

10 1 10 0?
TP vertr (cr%)

—=— DQM_mKkFit_TToriginal

Effici —e— DQM_mkKFit_TT_JanUpdate-noErr
ICIeNd __,__ pQM_mkFit_TT_JanUpdate-noErr1H

N 1.2
1_

0.8

efticiency vs ver

0.6

0.4

0.2

Ratio
=
T

0.9

0.8l

-20 -10 10 20 30
TP vert z (cm)

[ Efficien

cy vs.simPVz |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
@
(&}
£0.05
()
0.04
0.03
0.02
0.01

0

1

Ratio

0.9

Sim. PV z (cm)



	Contents
	Page 1


